In Exercises 10, find (a) 2(/(3)), () fog(l),and (c) f(/f(0))

e ¢) £(0)= 3(0)-2

- 12
) f=30y2 DI A2 geay=32)2

g(?)ﬁ2 £ L‘é E

In Exercises 11-14, write and simplify an equation for fog and go f/ and find the domain of each.

, 1
1. f(x)=x’ g(x)=x+3 12. f(x)=— g(x)=\/;
=yl 4 X -
fla))= (x43)*  9LFo0)= x%43 Flaud)= : oy (€ 0x)) &+

o: R P: R “ (0,1_:) D: (0) O'O)

13. f(x)=x"=5 g(x)=V4x-5 14, f(x)= : glx)=x+3 BX-S
x—2 —
£la () =4x-10 gwm)z«qrgf{e Flguoy= L 9(F ()= x-
: D: #X*-25=0 i . (00, 2 )0(2,%
g (00 5TUEP) D (-o9,-UED) p: (00, 220029
In exercises 15-18. (a) Determine an equation for f'l(x)

(b) Identify the domain of fand f‘l(x)

5. f(x)=-x+1 . 6. f(x)=-3x"+5x20_  £(K)-> D[, 0)

a. £(x)= -X+| 2 £0)=AE2 () >D: (00, A
b. R ' -

17. f(x)(;3+\/;;2 m 18. f(x)=——};—1- |
b €-'(%)= X*|0X e
£00> D:[2) %) - £(x) = 55

& £ )>D: £2) ) b. OO D2 09,1V, 29) £-1() D:(-80,0)U(0, %)

In exercises 19, use composition to show that fand g are inverses of each other.

19. f(x)=2x-6  gx)=-+3
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